EQUITY

LEARNING PLACE

Sec 4 Elementary Mathematics WA2

1) The table below shows that ages of 16 employees who work part-time at a cafe.

20 21 16 23

22 17 19 65

23 22 17 22

23 19 19 18

a) Complete the dot diagram to show the distribution of the ages of the employees. [2]
) L] e
e o . P
° e ® o * e ® °

b) Find the median age. 20+ 2

20 .
Answer: > [1]

c) Calculate the mean age.

22 815
Answer: [1]

d) Pranav said that “The mean is the most accurate way to determine the average age of the
employees.” Is he correct? Explain.

No., ‘heve i& on exMiemu valwe | (S, tn¥he ot

ph St coustng meow Y0 be unrelioble - [2]
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2) The diagram below illustrates the cumulative frequency curve for the length of 500 fishes

which are reared in Pond A.
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Length (cm)
Use the graph to find,
a) the percentage of fishes that are more than 50 cm,
50 .
- X\ fo =
w0 WO /o = D7,
Answer: [1]
b) the median length of fishes,
36 Cw
Answer: [1]
c) the interquartile range.
U3-30-58 =128
Answer: [1]
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d) Another 500 fishes are reared in Pond B. The box and whisker diagram below illustrates
the length of the fishes.

1] i 20 30 40 50 [ 1]

Length (cm)

If you are interested to invest in a fishpond. Based on the above given statistics for Pond a
and Pond B, give 2 reasons, which pond would you invest in?

Pond R, mediom & highe venns fish 1 bigqbv.

The wkerquovtt levenge 18 \ovgev also memming  yne cigeg

obHish \pviag myre whith mey include more you tigh

e) If a fish, of length 25 cm, is taken out of Pond B, state and explain the possible effect of
this on the median.

Tre median wi(l ine ente beruugt P fich doksn

ot het alength lesius Hhor L medion [2]
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3) The table below gives information about the ages of the members in the Any Time Fitness
Club.

Members aged under 50

Male 50

Members aged 50 or over

Female

34

36

30

a) One of these members is selected at random. Find, as a fraction in its lowest term, the

probability that he or she is under 50.

PlwderBd) = % = ?

Answer:

[1]
Two of the members are selected at random. Find the probability that,
b) both members are female
X bS
both _— —_— O>
Pl Temale y = 755 x 7% 43
u24 - g
- — -
22139 Answer: [1]
c) they are both aged 50 or over, but only one is male member.
Ploay t mate) = 32t 32, 3° y 34
3 160 184 © y§p Tuq
= _Q_g Answer: [2]
45
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4) Ahmad and Beng Hai want to rent lockers in school. The lockers are in two levels. Locker
1A to 1C on the lower level and Locker 2A to 2C are on the next level. Lockers are assigned
to each student randomly.

a) Using a possibility diagram, represent the two lockers that the two boys can be allocated.

[2]
. A B 'C 2n 28 2C
I It )CTA  2Av 2R 2014
% s I EYL:Y e 2AR 2B1R 2R
Ic |IAc )8\ 2P\C 2B\C 2¢\L
an  [in2AQ )B2R [CA 2R1A  202A
2R [)»28 RN jca? 2p28 A0k

2C ' m2L =L 120 2Rl R

b) Find the probability that Ahmad and Beng Hai are randomly allocated lockers next to each
other on Level 2.

b _ 2
P(Mx"\'% eat lh o on L‘l\ = ° ®
Answer: [1]

c) Find the probability that Ahmad and Beng Hai are randomly allocated lockers on different
levels.

Platleatea) = & -3
3O c

Answer: [1]

d) If the locker 2C was not available, find the probability that the friends will be allocated
lockers next to each other at any level.

P (rexY Yo each othrY) = £ .2

20 o

Answer: [2]
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5) There are x students in a class. 10 are boys while the rest are girls.
2 students are selected at random.

a) Draw a tree diagram, in terms of x, to show the probabilities of the possible outcomes. [2]

a
oo
)O R S~ C
AL-\O )
— - |
4o
x;uo G _xy 4
A-W C
Sl— 2 1
b) The probability that 2 girls are selected is p Form an equation in terms of x and show that
it reduces to 7x2 — 167x + 880 = 0. [2]
X-lO  x- I\ \ 2
X = — b ol | § =
= = 3 i 1A« RR0= 0L
3¥-aL E

QP _ (b8 5L+ R&D = - X

¢) Solve the equation 7x? — 167x + 880 = 0
(Ta~ssy X — Ib ) =0

x<c 5—_? o =lb Answer: [1]

d) Find, as a fraction, the probability that one boy and one girl are selected.

P(on boy ond oacconrl))

= 10,6 10

5 =18 * exig
S Answer: [2]
DS
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6) Amanda, Karen and Doris took a multiple choice test consisting of 50 questions. The result
of the tests are shown in the table below.

Correct Incorrect Not attempted
Amanda 42 4 4
Karen x 50-x 0
Doris 32 8 10

In the test, 2 marks are awarded for each correct answer but 1 mark is deducted for each
incorrect answer. No mark is penalised for non-attempt of any question.

a) Write down a 3 x 3 matrix A and 3 x 1 matrix B such that AB shows the total score

obtained by each girl in the test.
42 % W 1
(;L So-X O R= (.\ )
32 & to °’

ANSwer:

b) Find the matrix AB, in terms of x,

a2 & o ) €0
AR = A 5oy o )(_' = 31‘50)
32 R (o o 56
Answer: [1]

c) If Karen scored the lowest in this test, find the maximum number of correct answers she
has.

3O -9D =86S
AN = (08
3= 39

Answer: [2]
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